
PS-5350-14 SERVICE KIT,FASTENERS TB TYP B

25923 TINA LANE

KATY, TEXAS 77494

TEL: (281) 352-8588 

FAX: (501) 694-3080

psi@patented-systems.com

Web Site: www.patented-systems.com
 Service Kits Details

Part Number Part Description Qty. Req. U/M

013107  30 EAWASHER, BRIGHT, 5/8"

013109  20 EAWASHER, BRIGHT, 3/4"

021704  70 EAWASHER, SPRING, 1/4"

021706  70 EAWASHER, SPRING, 3/8"

021708  90 EAWASHER, SPRING, 1/2"

021710  20 EAWASHER, SPRING, 5/8"

021711  10 EAWASHER, SPRING, 3/4"

022519  6 EASTUD, 3/8-24 X 1" SO

022710  20 EASCREW, HEX 3/8-24 X 7/8

022713  10 EASCREW, HEX 3/8-24 X 1

022724  10 EASCREW, HEX 1/2-20 X 1-1/2

022732  30 EASCREW, HEX 5/8-18 X 1-1/4

022733  10 EASCREW, HEX 5/8-18 X 1-1/2

022919  10 EABOLT, HEX 1/2-20 X 2

022936  20 EABOLT, HEX 5/8-18 X 2

022937  50 EABOLT, HEX 5/8-18 X 2-1/4

022938  10 EABOLT, HEX 5/8-18 X 2-1/2

023103  70 EANUT, 3/8-24

023105  100 EANUT, 1/2-20

023106  150 EANUT, 5/8-18

026061  64 EANUT, SELF-LOCKING, 5/8-18

508707  24 EAHELI-NUT, 5/8-18

CT-138/7  7 EANUT, 5/8-18

CT-138/8  16 EANUT, 3/4-16

CT-162/204  24 EASTUD, 5/8-18 X 2-17/32" SO

CT-190/101  4 EADOWEL, 1/2" X 1-3/4", 1/4-28

CT-411/49  64 EAWASHER, 3/16 X .645 X 1-3/8


